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QUESTION 1

Which operational mode command would you use to verify the presence of VPN routes on a PE device? 

A. show route table bgp.l3vpn.0 

B. show route protocol bgp terse | count 

C. show route table inet.0 

D. show route route-type vpn 

Correct Answer: A 

 

QUESTION 2

R3 is an OSPF router connect to both Area 0 and Area 1. Area 1 has been configured as a stub area. Which two LSA
types does R3 suppress from Area 1? (Choose two.) 

A. Router LSA 

B. External LSA 

C. Summary LSA 

D. ASBR Summary LSA 

Correct Answer: BD 

Stub areas are areas through which, or into which, AS external advertisements are not flooded (LSA types 4 and 5). 

 

QUESTION 3

For a network running single-area OSPF, how would you decrease the size of the link-state database (LSDB)? 

A. Implement RIP as an overlay protocol on all devices. 

B. Add more devices to the OSPF network to help with LSDB processing. 

C. Reduce the frequency of hello timers throughout the network. 

D. Implement OSPF areas. 

Correct Answer: D 

 

QUESTION 4

A IS-IS TLV includes which two attributes? (Choose two.) 
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A. topology 

B. vector 

C. length 

D. value 

Correct Answer: CD 

 

QUESTION 5

You have just configured IPv6 in your network. A packet arrives on your router that exceeds the MTU size. How will an
IPv6 router respond? 

A. The fragment offset is referenced and the packet is fragmented. 

B. The packet is kept intact and not fragmented. 

C. The packet is dropped. 

D. The packet is fragmented based on extension headers. 

Correct Answer: C 
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